EXAM DATE : 17-August-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 201 - Select the related word from the given alternatives.
Tongue : Taste :: Nose : ?
&g 7Tq fenedt # § TEfdT 21eg & g

Sfter: Tang AR 0 ?
Options:

1) Smell

Tie

2) Face

KGR

3) Touch
sl

4) Chin
S

Correct Answer: Smell
Ty

Candidate Answer: Smell
Ty

QID : 202 - Select the related letters from the given alternatives.
FDH:LJN:RPT:?

&g g fremeat # © Feifera s1art &t gl

FDH:LJN:RPT:?

Options:
1) XYZ

2) WUY
3) Xvz

4) SUV
Correct Answer: XVZ
Candidate Answer: XVZ

QID : 203 - Select the related number from the given alternatives.

39:52:51:?

g q feneut & @ Hefdq dwen &t gy
39:52:51:?

Options:

1) 53

2) 40

3) 68

4) 38
Correct Answer: 68
Candidate Answer: 68

QID : 204 - Select the odd word from the given alternatives.

&g Tq fenedt & @ fawm <reg @t gl

Options:
1) Nylon
BICCIE]

2) Wool
A

3) Silk
R

4) Cotton
HUE
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Correct Answer: Nylon
A

Candidate Answer: Nylon
BICCIE]

QID : 205 - Select the odd letters from the given alternatives.

&g 71q forenedt # & v s1eri &t g

Options:
1) ZXV

2) GDA
3) NKH

4) URO

Correct Answer: ZXV

Candidate Answer: ZXV

QID : 206 - Select the odd number from the given alternatives.
g g Rreredt & @ frwm e @t gfg

Options:

1)15

2) 20

3) 40

4) 60

Correct Answer: 15

Candidate Answer: [ NOT ANSWERED |

QID : 207 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
Pension, Aptitude, Captain, Tropical, Survive, ?

Ten S1ed foar T B, Fored ga e e &1 3y g e § € g wel fened g St Sehd aht O Rl

Pension, Aptitude, Captain, Tropical, Survive, ?
Options:

1) Parrot

2) Apply

3) Trap

4) Tetrapod

Correct Answer: Tetrapod

Candidate Answer: [ NOT ANSWERED |

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
DEC, HIG, LMK, PQO, TUS, ?

Teh SeRH foam ma 8, Fored ga ug g 81 iy e fenedt & @ ag @l faehed gy St srgeRd & [ R

DEC, HIG, LMK, PQO, TUS, ?

Options:

1) XYZ

2) WXY

3) XYW

4)YZA

Correct Answer: XYW

Candidate Answer: XYW

QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
100, -20, 4,7, 0.16, -0.032

Ten SigeRd fea man 8, fored g dven qw 81 Ry 1y fenedl § § ag @l fenen gfg St srgerd At @ |

100, -20, 4,7, 0.16, -0.032

Options:
1)0.8

2)1
3)-1

4)-0.8
Correct Answer: -0.8
Candidate Answer: -0.8



QID : 210 - Chirag's birthday is on Thursday 15t June. On what day of the week will be Reyansh's Birthday in the same year if Reyansh was born on 3'd December?

fRRTT T AR TFaR 1 S &l 81 afE Ratar & S 3 e ol o o dt It avf Rafar &1 SwAfe wwrg & frg i ghm?

Options:

1) Wednesday
gYAR

2) Sunday
faar

3) Friday
LhdR

4) Saturday
I ER

Correct Answer: Sunday

Candidate Answer: Sunday

QID : 211 - The weights of 4 boxes are 20, 40, 50 and 30 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

IR g T Foi 20, 40, 50 3R 30 fretum 81 Fafafea 7 @ godt & et off Taiem @ et awim, fvettume & ot a1 8 8t Topar & ok Tas T=ISH H Uk SoRT b 8t IR uaiT &
ST ST GehelT &7

Options:

1) 140

2) 130

3) 90

4)120

Correct Answer: 130
Candidate Answer: 140

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
ORDINALS
fafafEa faeed & @ gg e 9w St iy 7 2reg & a1erT 1 TahT shedh T8 ST ST ek

ORDINALS

Options:
1) DINAR

2) ADORN
3) SALON

4) IDEAL
Correct Answer: IDEAL
Candidate Answer: IDEAL

QID : 213 - If QUICKLY is coded as OSGAIJW, then how will HUE be coded as?

Tfe QUICKLY @t forell shis & OSGAIJW forar Sira 8, at HUE ot St shls & arar forar semm?

Options:
1) ZMA
2) FSC
3) HZK
4) HNI

Correct Answer: FSC
Candidate Answer: FSC

QID : 214 - In a certain code language, '+ represents 'x, -' represents '+, 'x' represents '+' and '+' represents . What is the answer to the following question?
42x7+7+9-62=?

foReht sl TSI &, '+' T AdIE 'X' 8, - T Aded '+ 8, 'X' I Adeis '+ § S8R '+ ol Adad ' g1 FEfeiRad Ue d SR R 8?

42x7+7+9-62=7?

Options:

15

2) 87

3) 22

4)2
Correct Answer: 5
Candidate Answer: 5

QID: 215 - If 17@1=8; 9@1=4; 6@4=1; then what is the value of 8@2=?

R 17@1=8; 9@1=4; 6@4=1; T 8@2 = ? & 7 G HIoA|



Options:

1)3

2) 26

3)23

4)47

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID : 216 -

Select the missing number from
the given responses

fev a1v fowedt 7 & o
e giav|

23 | 114|204
45 | 25| 36
68 | 89| 7?7

Options:

1) 157

2) 168

3) 21

4)15

Correct Answer: 168
Candidate Answer: 168

QID : 217 - A truck travels 36 km North, then it turns West and travels 9 km, then it turns South and travels 50 km, then it turns to its left and travels 9 km. Where is it
now with reference to its starting position?

e gk 36 fon. 7. IR T 3R ST &, R I8 uffye ot ok 18 ST & SR 9 fon. 7. ek STra 8, R @i afeor it 87k 73 Sram & SR 50 o Y. aeh 1 8, fhe T Sroet amg ofk g Sirar
2 3R 9 R+, Tk T &1 T8 SroR IRfYe RS @ o wEt &7
Options:

1) 14 km North

14 fh.H. I

2) 86 km South

86 for.=h. afgror

3) 86 km North

86 fob.#ft. IR

4) 14 km South

14 o5 =Y. gfayor

Correct Answer: 14 km South

14 o5 =, gfayor

Candidate Answer: 14 km South
14 o =, gfayor

QID : 218 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some clever are intelligent.
Statement 2 : No intelligent is Smart.

Conclusion | : Some intelligent are clever.
Conclusion Il : Some smart are clever.

u § & sy 3 1 § [Sraes ot &t fAsehf | 3R 11 fRrenret 7 €1 smueht 51T § 16 S e 9 € 918 a8 AT T det § 9 udia gia 81| et fvfg e § i Ry g
faseret & § F-g1/w-8 Rffa w0 @ Fu gR1 98l e ST 9ehar §/9d &, afe s gl

HYF 1: S TGR IS 8l
YA 2: 1S o gigam SiRaR 7 21

freendf |: T gigmm agR &

s 11: 3B IR IR &

Options:

1) Only conclusion | follows
| gEr e

2) Only conclusion Il follows

e et || wgT &

3) Both | and Il follow

Il e | ofR 11 @81 8

4) Neither | nor Il follows

1 at ey | g8t g AT 8t e |1

Correct Answer: Only conclusion | follows
haet e | TEl &



Candidate Answer: Only conclusion | follows

Fae Ry | T8 3

QID: 219 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fFEfAfd 3eer 3mpfa & | @i a1 v
Rw arw yeat wpfa A A g va7 @
FATAT AR AT Thch?

OO+
[]

Options:

4)

=
o)

Correct Answer:

.| @

e




QID : 220 -

In the following figure, square represents Dietitians, triangle represents
Botanists, circle represents Psvchologists and rectangle represents
Indians. Which set of letters represents Psvchologists who are not
Botanists?

Frafaiad sioefa 8 o mER faRvel ol exfar . Fraafast @1
a1 8, 90 AAaee ! & gRfar € iR smaa LRI
H&RT BT D H U1 THE THIGA D! DI GRIdT & ol aTedias Tal &2

.
P F
B
C
/o\
/ £\

Options:

1)D,GA

2) AB.C

3)FEC

4)H,B,D

Correct Answer: AB,C
Candidate Answer: AB,C

Qi : 221 -
Which answer figure will complete
the pattern in the question figure?
F=fafET F @ Fha-ar s sl wee
HIPfer & wiowd & g e

Options:

1)

2)

3

4

R



Correct Answer:

o

andidate Answer:

QID: 222 -

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

& T 3 WAt 7 ¥ 3§ el w g
o weet g ffea &)

(1))|)tions:

2

3
VARV
LA

4

Correct Answer:

VIV
AL

Candidate Answer:

VIV
AL




QID : 223 -

A piece of paper is folded and punched as shown below
in the guestion figures. From the given answer figures,
indicate how it will appear when opened.

wee oAt & BT Hean FEr F:
AlZH 3HH B¢ Bl dUT Dol & g d8
fore 3eat i St faang &am?

T

Options:
1

o

58

P B o

Correct Answer:

o

5 g

0O

Candidate Answer:

o

5 8




QID : 224 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

afe o gdor w MN Y& @ @ A ar & a3
Fee) FRfaat 7 & Fla-dr IHlE we sk
F1 mer ufafers gefr?

M

i
LN

Options:
1)

2

N

Correct An

AN

N

Candidate Answer:

N



QID : 225 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of
alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4
and that of Matrix-1I are numbered from 5 to 9. A letter
from these matrices can be represented first by its row
and next by its column, for example 'K' can be represented
by 20, 34 etc and 'Z' can be represented by 67, 88 etc.
Similarly, you have to identify the set for the word 'PURE'".

U 9 dael U HEA-HAG qaT aiEn v §, S e
et & & el v & Rar wmr 21 Rwedt & Ro o
wea-Ap Rt ¥ o @it gEw s o E o R R
aw g sEgE A ¥ oamegpl & wew i ofea & s
0 #F 4 Mt wregE-l 1 S5 & 9§ 3 NE & UH 3N
1 e IEh ofeT A A # woew we gan offr e
T &1 SERNT F v K @ 20, 34 R gEw v S
wEdT & TU 2 F 67, 88 e @ gufar ST wEar ¥
T E W A WA A RU e PURE % WU wEE

F T gl
“Matrix| ] Matrix Il
L | S I Heey . |
o|l1]2]ala s 6l7|8]a
o|G|k|o|o]|e slo|T|v]u|®r
1la{s]fle]s slajulz|v]|T
2 K|FlH|FIA rlviylx|la|n
i/p(6|m|lcik slvy|m|x|[z]e
4afcli|n]s]e s njulvy|uv]o]
Options:
1) 89,96,86,13

2) 34,34,56,79
3) 41,44,67,96

4)01,10,79,57
Correct Answer: 89,96,86,13
Candidate Answer: 89,96,86,13

QID : 226 - In a market system, the central problems regarding how much and what to produce are solved through the coordination of economic activities brought
about by signals.

IR o H, I Hela Trwnsil ot Tne e avg o o fohg A & Ieure foRam ST 8, 3 3761 Sohdll oh g1 8N SiTffen foRameretrdt & o= © giar 81
Options:

1) Supply

armfet

2) Demand
i

3) Price
HFa

4) Stock Market
R FRIR

Correct Answer: Price

Candidate Answer: [ NOT ANSWERED |

QID : 227 - says that the marginal product of a factor input initially rises with its employment level. But after reaching a certain level of employment, it starts
falling.
gl & o dmia IS o1 R NI TR H TANT & T Feal WR 8, STa ST & Tl o1 ©R = 8l
Options:
1) Law of diminishing marginal product
B i 3are fFam
2) Law of variable proportions
Rt srgard
3) The Short Run
HeehTel

4) The Long Run
&refeprer

Correct Answer: Law of variable proportions

gRardt sruTa fAaw

Candidate Answer: Law of diminishing marginal product
BT i 3are fFaa

QID : 228 - Constituent Assembly of India was founded in the year
IRAT Gy g s F wenfia germ am



Options:
1) 1940
2) 1946
3) 1947
4) 1950

Correct Answer: 1946
Candidate Answer: 1947

QID : 229 - Which Fundamental Right in the Indian Constitution allows citizens to move the court if they believe that any of their Fundamental Rights have been
violated by the State?

IR AU & g Hifere SiferR # gt a1 § &t A fohelt ATTReR ol T & foh 3T g1 39 et Hifcies 1R ol Seeie gon & df 59 HTIHR & TERT e a8 31aTerd 7 S
FerdT §?
Options:
1) Cultural and Educational Rights
i 3R Sterfor SR

2) Right to Constitutional Remedies
a YR T

3) Right against Exploitation
Mo & 9o SifdeaR

4) Right to Freedom of Religion
AT T YRR

Correct Answer: Right to Constitutional Remedies
i IR &t

Candidate Answer: Right to Constitutional Remedies
] IUAR AT

QID : 230 - During their rule the British persuaded or forced cultivators in Punjab to grow

ST M S ERM St et ol toter & I & foIg FeTeR e @

Options:
1) Jute

s
2) Tea
g

3) Sugarcane
T

4) Wheat
Correct Answer: Wheat

Candidate Answer: Tea
g

QID : 231 - The Red fort in Delhi was the residence of emperors of which dynasty in the 16th century?

164t TaTed) & feeeht ot oATet fohet foher IoTdisr o *Meh! ept (AT 2m?

Options:
1) Rajput
reTqd
2) Khalji
faretstt

3) Tughlug

GUGED

4) Mughal

qme

Correct Answer: Mughal

kSicd

Candidate Answer: [ NOT ANSWERED |

QID : 232 - India has a land boundary of about _______ km.

R T et WA @7 AT fepemfiez 81

Options:
1) 5200

2) 10200
3) 15200

4) 20200

Correct Answer: 15200

Candidate Answer: [ NOT ANSWERED ]

QID : 233 - The Patkai hills belong to which mountain ranges?

Ueohrs UgTieat for uda sfeeat @ aweifda 82



Options:
1) Himachal

2) Purvanchal
3) Himgiri

4) Hindu Kush
foraga

Correct Answer: Purvanchal
Candidate Answer: [ NOT ANSWERED |

QID:234-RBCs are formedinthe____________inthe adults.

ATeT SR HftrerTd (SR g gt &1

Options:
1) blue bone marrow
SR HowTr

2) red bone marrow
ATl MY sl

3) white bone marrow
A Y Hoe

4) black bone marrow
I ST HooT

Correct Answer: red bone marrow
TS Y sl

Candidate Answer: red bone marrow
Ter SIfRY Ao

QID : 235 - The later (second) formed primary xylem elements are called

1 H (GER) I aTe WAk Sgem ded Y &g &1

Options:
1) Protoxylem

2) Metaxylem
BeTomged

3) Xylem parenchyma
Sirgen Reewrear
4) Xylem fibres
STEH g

Correct Answer: Metaxylem
Candidate Answer: [ NOT ANSWERED ]

QID : 236 - Which of the following does not hold true for Animal belonging to Phylum Chordate?

9 @ S T TY ool § Hefdd SHaR) & forg Tgl =gt 2
Options:
1) Notochord present
U8 o] U gt &
2) Pharynx perforated by gill slits.
[E-R eI
3) Heart is dorsal (if present)
£ g8 AT F giaT & (SR Sufed 8)
4) A post-anal part (tail) is present
e T[E-U% I8 SUdd gidl 6
Correct Answer: Heart is dorsal (if present)
I U8 9T H §idT § (SR ufld
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - In science a push or pull of an object is called

T & fonelt e R Sifremefor o SruavUI Y ahed B
Options:

1) Pick

AT

2) Lift

ISHT

3) Force

EEl

4) Shut

£

Correct Answer: Force
EEl

Candidate Answer: Force
EGl

QID : 238 - There are how many vocal cords in the human voice box?



Options:
1) One
Teh

2) Two
a

3) Three
Gik

4) Four
IR

Correct Answer: Two
Candidate Answer: [ NOT ANSWERED |

QID:239-Theattribute______ specifies (in pixels) the distance between two adjacent cells.

_ fRwar & dia St & o ol @ St & (Freme 7)1

Options:
1) Width
EIGE]

2) Height

Farg

3) Cellpadding

YerafSm

4) Cellspacing

Yo

Correct Answer: Cellspacing

Candidate Answer: Cellpadding
JerdfST

QID : 240 - What is the name of the acid in an ant's sting?

& & S & gTaT ST T 31T B AT E?

Options:

1) Acetic acid
3T

2) Citric acid

arsfea st

3) Formic acid

e s

4) Lactic acid

wfaeen snel

Correct Answer: Formic acid
kel

Candidate Answer: Formic acid
iffeh 3T

QID : 241 - Which base is present in soap?

I # I T &R UTT ST 82
Options:
1) Sodium hydroxide
s gregrTEs
2) Silicon dioxide
SIESERIES]
3) Calcium hydroxide
FfaH gEgETES

4) Ammonium hydroxide
HESIESIES)
Correct Answer: Sodium hydroxide
RESIESIES
Candidate Answer: [ NOT ANSWERED ]

QID : 242 - Any undesirable change in physical, chemical or biological characteristics of air, land, water or soil is called?

arg, fA, STt A 73aT & wHiferes, Iamafe ar e sifSaern # g7 aren ge sEfe uRadd s gl

Options:
1) Greenhouse effect
UHIT

2) Solid wastes
319 JufE
3) Pollution

4) Deforestation

Correct Answer: Pollution

gmo

Candidate Answer: Pollution

T

QID:243-___ scheme was launched by the Central Government to create awareness about the cleanliness of the children.

Fg WAIRGRITRA DN TR 3T o7 3227 S=a] & BT & TR B SIRechd 304 T &



Options:
1) Sukanya Samridhi Yojana

T TG AT

2) Bal Swachta Mission
CIGECERINERE]

3) Pradhan Mantri Jan Dhan Yojana
YA 5 G

4) Beti Bachao Beti Padhao Yojana
FE FraTSlt & ygrat g

Correct Answer: Bal Swachta Mission
TeT WesdT AL

Candidate Answer: Sukanya Samridhi Yojana

R g e

QID : 244 - Who discovered the colour photography?

1 i @l fraa hr?

Options:
1) Robert Noyce
JeE Tag

2) Enrico Fermi

3) John Logie Baird

St @t 398

4) James Clerk Maxwell
S FATh Heade

Correct Answer: James Clerk Maxwell

ST geTeh Aaae

Candidate Answer: James Clerk Maxwell

S FTeh Aeae

QID : 245 - Who was the host nation of 2014 FIFA World Cup?

2014 T fa% &Y o1 ASTaT 327 1= 91 AT?

Options:
1) Argentina
STSTET

2) Netherlands
RICEE

3) Germany

A

4) Brazil

EIcic)

Correct Answer: Brazil

Candidate Answer: Brazil

QID : 246 - Jama Masjid of Delhi was built by?

feett 3 ST AfST ot fAmfor fohe eearar om?
Options:

1) Akbar

3TchalR

2) Humayun

ks

3) Babar

EICE

4) Shah Jahan

RIERSE

Correct Answer: Shah Jahan

NS

Candidate Answer: [ NOT ANSWERED ]

QID : 247 - Which of the following won the Oscars 2017 Best Picture?

Frfafea & & fhg af 2017 o 998 fther o1 Sife REAR fer?
Options:

1) La LaLand

A A S

2) Moonlight

B SSIE

3) Arrival

SRTgIA

4) Fences

Hag

Correct Answer: Moonlight

B GLIE

Candidate Answer: Moonlight
AR



QID : 248 - Which of the statements given below are correct?

1. The author of the novel 'Half of a Yellow Sun' is Chimamanda Ngozi Adichie.
2. The author of the novel 'Middlesex' is Jeffrey Eugenides.
3. The author of the novel 'Missile Gap' is China Mieville.

A< e T T A & @ & Sy AE 87

1. ITAT "§Th 3ATh 31 A} " & oRgeh FRmTHar Amett snfe=ht &
2. Ig0TY "FAfeeded" & oraes SR gifaeE €
3. U=y "fAgTse AU & @geh TTeT Ao §l

Options:
1) 1and 2
18R 2

2) 2 and 3
23R 3

3)1and3
18R 3

4)1,2and 3
1,23R3

Correct Answer: 1 and 2
18R 2

Candidate Answer: [ NOT ANSWERED |

QID : 249 - Which company acquired LinkedIn For $26.2 Billion?

fore ot 3 $26.2 faferam Ster # feierss a1 sifdwrgon fomar am?

Options:

1) Apple
oo

2) Facebook

3) Microsoft
ATSRINGIGE

4) IBM
CIES o)

Correct Answer: Microsoft
Candidate Answer: [ NOT ANSWERED |

QID : 250 - Which of the following rivers flows from India to Pakistan?

fFefafEa 9t 3 @ w9 W 7 wRa 3 Perctas urfdhear & sl 82
Options:
1) Satlyj

Hefegst

2) Ghaghra
HTERT

3) Betwa
dear

4) Tapi
ardt

Correct Answer: Satluj
st
Candidate Answer: Satluj

st

QID : 251 - What least number must be added to 4131, so that the sum is completely divisible by 19?

4131 ® & YATH T ot SISl ST 178G, dTfch ag A 19 § g awg 9 o g2

Options:

1) 10

2) 11

3)9

4)12

Correct Answer: 11
Candidate Answer: 11

QID : 252 - A, B and C can finish a job working alone in 12, 8 and 24 days respectively. In how many days they can finish the job if they worked together?

A, B 3fR C foret & ot a1kt shAsT: 12, 8 iR 24 AT # g1 e Tehdl €1 TS & Yo 1Y h1H el § off 39 i et AT A QRT e et 67
Options:

Correct Answer: 4
Candidate Answer: 4

QID : 253 - What is the area (in sq cm) of an equilateral triangle of side 14 cm?

14 9.7 ST aret THaTg PRtor &1 &ather (af 3.5, H) wm ghm?



Options:

1) 49v3

2) 98v3

3) (49/2)v3

4) (49/4)v3

Correct Answer: 49v3

Candidate Answer: 49v3

QID : 254 - What is the effective discount (in %) on two successive discounts of 20% and 10%?

20% 3fR 10% & AR & FT IR T Fe (% H) a1 gif?
Options:

1) 30

2) 32

3)35

4) 28

Correct Answer: 28

Candidate Answer: 28

QID : 255 - Profit of Rs 1,03,500 has to be divided between three partners A, B and C in the ratio 11:7:5. How much amount (in Rs) does B get?

1,03,500 & &1 @19 11:7:5 & Sgurd & = iRt A, B SR C & st faenora foram S &1 B &Y firert areft 2y (% #) fnaeit ghft?
Options:

1) 22,500

2) 49,500

3) 50,500

4) 31,500

Correct Answer: 31,500

Candidate Answer: 31,500

QID : 256 - The average weight of P, Q and R is 45 kg. If the average weight of P and Q be 36.5 kg and that of Q and R be 52 kg, then what is the weight (in kgs) of Q?

P, Q 3R R @1 3ftad g 45 fh.am. &1 3 P ok Q &1 siiera awr 36.5 fh.am. & 8k Q 8k R a1 3ftra aw 52 fh.am. &, af Q ot aoi (fos.am #) framm 82
Options:

1) 42

2) 44

3) 46

4)48

Correct Answer: 42

Candidate Answer: 42

QID : 257 - A shopkeeper by selling 21 items earns a profit equal to the selling price of 1 item. What is his profit percentage?

21 TS Y TR Teh GHHER 1 I Y foreht ey 3 aRTaR AT HATAT & | IHehT 1T Wfaira foe &2

Options:

1)5.5

2)2.2

3)2

4)5

Correct Answer: 5
Candidate Answer: 5

QID : 258 - What is the value of 10% of 150% of 400?

400 % 150% % 10% T T T &2
Options:

1) 600

2) 50

3) 500

4) 60

Correct Answer: 60

Candidate Answer: 60

QID : 259 - To cover a distance of 144 km in 3.2 hours what should be the average speed of the car in meters/second?

144 freiiter it it At 3.2 B & T et o g Hier / Sehe & R it sftaa wifay Y =nfR?
Options:

1)12.5

2)10

3)7.5

4)15

Correct Answer: 12.5

Candidate Answer: 12.5

QID : 260 - If in 2 years at simple interest the principal increases by 18%, what will be the compound interest (in Rs) earned on Rs 7000 in 3 years at the same rate?

3R 2 T # HTURUT AT I &R 8 e 18% T FgdT g, df 7000 3 TR 3 6T 7 I & WR ST dergieg samst (3 #) 1 ghmm?

Options:

1) 1865.2
2) 2065.2
3) 1965.2
4)1765.2

Correct Answer: 2065.2



Candidate Answer: [ NOT ANSWERED |

QID : 261 - If x/3 - [5(7x/5 - 4/3)]/2 = -x/6, then what is the value of x?

afe x/3 - [5(7x/5 - 4/3))/2 = -x/6, At x T 7T FIT &2

Options:

1) 10/9

2)-10/9

3)-9/10

4)9/10

Correct Answer: 10/9

Candidate Answer: -10/9

QID:262-Ifa3+b3=19anda+b= 1, then what is the value of ab?

gfe a3+ b3 =19 3Ra+b =18 dlab e A a1 8?
Options:

1)5

2)-6

3)7

4)-9

Correct Answer: -6

Candidate Answer: -6

QID : 263 - A fraction is greater than its reciprocal by (72)/(77). What is the fraction?

e {3 SR ek © (72)/(77) § 31fdes 81 ag Rm e &2

Options:

1) 7/11

2)11/7

3) 4/7

4)7/4

Correct Answer: 11/7
Candidate Answer: 11/7

QID : 264 - What is the sum of the first 12 terms of an arithmetic progression if the first term is -19 and last term is 36?

Ueh AR 20ft & T 12 uel o1 g @ar g, af uger g -19 g ofiR sifaw ug 36 81

Options:

1) 192

2) 230

3) 102

4) 214

Correct Answer: 102

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - What is the reflection of the point (-2, 5) in the line x =-1?

@ x = -1 ¥ fiig (-2, 5) o1 ufafde @ 82
Options:

1)(-2,-7)

2)(0,5)

3)(2,5)

4)(-2,7)

Correct Answer: (0, 5)

Candidate Answer: (0, 5)

QID : 266 - Point P is the midpoint of segment AB. Co-ordinates of P are (3, 1) and B are (5, -4). What are the co-ordinates of point A?

fiig P Raree AB a1 mem fig &1 P & fAdarian (3, 1) € 9 B & (5, -4) &1 foig A & fdiias orm €2
Options:

1)(-1,7)

2)(1,-7)

3)(1,6)

4)(-1,-7)

Correct Answer: (1, 6)

Candidate Answer: (1, 6)

QID : 267 - What is the slope of the line perpendicular to the line passing through the points (-5, 1) and (-2, 0)?

(-5, 1) 3R (-2, 0) figait o ATea™ & o~ ATelT 3@ o THadd @M i S T 8?2
Options:

1)-3

2)3

3)-1/3

4)1/3

Correct Answer: -1/3

Candidate Answer: 3



QID : 268 - AABC is similar to APQR. If ratio of perimeter of AABC : perimeter of APQR is 5:9 and if PQ = 45 cm, then the length of AB (in cm) is?

AABC 3R APQR Ua THH &1 afg AABC Y aRfY : APQR &t uRRfer &t argura 5:9 & sfk afk PQ = 45 9.7, &, at AB &t wend (3.1, #) fohaii &2
Options:

1)15

2) 20

3) 25

4)16

Correct Answer: 25

Candidate Answer: 25

QID : 269 - What is the value of (1/v2) Cot 45° + (1/v3) Cosec 60°?

(1/v2) Cot 45° + (1/v3) Cosec 60° & 71 T &2

Options:

1) (V6 +1)/v3
2) V3

3) (1+3v2)/v3
4) (3+2v2)/3v2

Correct Answer: (3 + 2v2)/3v2
Candidate Answer: (3 + 2v2)/3v2

QID : 270 - A ABC is right angled at B. If m£A = 60°, then what is the value of sec C.sin A?

A ABC, B R GHahIUT 81 af m2A = 60° &, af sec C.sin A T 714 &RIT 82
Options:

1) 2/V3

2) v3/2

3)2/3

41

Correct Answer: 1

Candidate Answer: 1

QID : 271 - If Tan 6 = 7/24, then what is the value of Sec 6?

Tfe Tan 6 = 7/24, dt Sec 8 T A1 &1 gHTT?

Options:
1) 24/25
2) 24/7
3) 25/7
4) 25/24

Correct Answer: 25/24
Candidate Answer: 25/24

QD : 272 -

The pie chart shows tickets sold {in 1000s) per month by six different
airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

aré are oF Ned-Mee CAASAT (A, 8,C, 0, E F) AT 9
A aY S arelt R&d @) /) oA 81 5w v &
g &Y MR Arafaf@a vl &1 3R &)

Which airline sold the second highest number of tickets?

feendt ol gut Ted S1fdren forshl vt aTett qaRaTsH i & 87
Options:

1)E

2)A

3)B

4)D

Correct Answer: E



Candidate Answer: E

QID:273-
The pie chart shows tickets sold (in 1000s) per month by six different

airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

qr¥ T oF Red- e IRaEEay (a,8,C,0, € F) ZaRT 9

B A I arel REE gl ) gufar &1 5w v &
Jeraa #Y R farafaf@a et & 3car &

Airline E sold how many more tickets than Airline A?

TIRATEA E 7 UaRaTEA A &Y g § fnait orfdies feend 3=f?
Options:

1) 25

2)16

3)20

4)10

Correct Answer: 20
Candidate Answer: 10

QID : 274 -
The pie chart shows tickets sold (in 1000s) per month by six different

airlines (A, B, C, D, E, F). Sludy the diagram and answer the
following questions.

qré T1E BF Hew-fRew AT (4,8, C, 0, € F) ZaRT 9
AIE A T Al REE @gad #7) gafar 81 5 N &
Jegga &Y MY Prafaf@a v &1 3cat 2

The ratio of tickets sold by Airlines A and D to tickets sold by Airline E is?

TIRATEH A 3R D GRT 9=t TS fenel ol TaRens E gRT o<t 77 fedhel & Srgurd fopam 82
Options:

1)3:4

2)4:3

3)2:3

4)4:1

Correct Answer: 4: 3

Candidate Answer: 4 : 3



QID : 275 -

The pie chart shows tickets sold (in 1000s) per month by six different
airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

ar§ T1e o Men-ffew vaTasaa (a,8,C, 0, € F) ZaRT 9
B A I Al REE @Rl A) gufar 81 5w i &
Neaaa #Y R farafaf@a et & 3car &

If the price of an airline ticket is Rs 7000 then by what amount, monthly Revenue (in Rs. Millions) from sale of tickets of Airline B is greater than that of Airline E?

I Y TaRaTEH fedhe & HiFa 7000 % & at UaRelsa B gRT St ST atelt feene) & g8 A1fies ToTea (39 71 % H) GaReTs E & qenrert fohaT aifden ghfi?
Options:

177

2)7

3)35

442

Correct Answer: 35

Candidate Answer: 35

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

She was so (1)/ near to (2)/ achieving her goal. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

He watched as fights (1)/ broke out (2)/ along the city. (3)/No Error (4)
Options:
1)1

Correct Answer: 3
Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Everyone was pleased to learn the actor would ________ his role as the captivating pirate.
Options:

1) reprise

2) rescue

3) save

4) free

Correct Answer: reprise

Candidate Answer: reprise

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The diamond necklace was too extravagant for a simple dinner party.



Options:

1) distance

2) long

3) very much

4) far

Correct Answer: far
Candidate Answer: far

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Fallacy

Options:

1) Conformity

2) Surety

3) Bias

4) Evidence

Correct Answer: Bias

Candidate Answer: [ NOT ANSWERED |

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

To reproach

Options:

1) To commend

2) To laud

3) To exonerate

4) To admonish

Correct Answer: To admonish

Candidate Answer: [ NOT ANSWERED |

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Veneration

Options:

1) Adoration

2) Contempt

3) Reverence

4) Admiration

Correct Answer: Contempt

Candidate Answer: [ NOT ANSWERED |

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Impugnable

Options:

1) Dicey

2) Debatable

3) Indubious

4) Hazy

Correct Answer: Indubious

Candidate Answer: [ NOT ANSWERED |

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To hit the nail on the head

Options:

1) To take out frustration by beating a person

2) To make a wrong decision

3) To find exactly the right answer

4) To unwittingly fall into a trap

Correct Answer: To find exactly the right answer

Candidate Answer: To find exactly the right answer

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

On thin ice

Options:

1) To keep failing after repeated efforts

2) To endure a harsh winter

3) To keep one's cool even in a tough situation

4) In a precarious or risky situation

Correct Answer: In a precarious or risky situation
Candidate Answer: In a precarious or risky situation

QID : 286 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

All (was surprising) to find that he was not with them.
Options:

1) was surprised

2) were surprised

3) is surprised

4) no improvement

Correct Answer: were surprised



Candidate Answer: were surprised

QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Read in order (become) wise.
Options:

1) to have to be

2) to have become

3) to become

4) no improvement

Correct Answer: to become

Candidate Answer: to become

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Showing strong feeling
Options:

1) Meek

2) Vehement

3) Apathetic

4) Impotent

Correct Answer: Vehement

Candidate Answer: Apathetic

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A sheath for the blade of a sword
Options:

1) Scabbard

2) Denude

3) Divulge

4) Expose

Correct Answer: Scabbard
Candidate Answer: Denude

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Litegants

2) Litigents

3) Litigants

4) Litegents

Correct Answer: Litigants

Candidate Answer: Litigents

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Stoically

2) Stoicaly

3) Stoecally

4) Stoecaly

Correct Answer: Stoically
Candidate Answer: Stoically

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The space in front of the large
X-hut was empty, but
Y-placed several stools
Z-before it were
Options:

1) XYZ

2) XzY

3) ZYX

4) ZXY

Correct Answer: XZY
Candidate Answer: XZY

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

From our common experience
X-of the relation of the
Y-mental he starts out
Z-physical and the
Options:

1) XYZ

2) XzY

3) ZYX

4) ZXY

Correct Answer: XZY
Candidate Answer: XZY



QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

The maid vacuums and dusts the house every day.

Options:

1) Every day the house is vacuumed and dusted by the maid.

2) Every day the house were vacuumed and dusted by the maid.

3) Dusting and Vacuuming of the house every day is being done by the maid.
4) Dusting and Vacuuming of the house every day was being done by the maid.
Correct Answer: Every day the house is vacuumed and dusted by the maid.

Candidate Answer: Every day the house is vacuumed and dusted by the maid.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

The spectators said, "Bravo! Good hit, Jay!"

Options:

1) The spectators applauded Jay for his good hit.

2) The spectators applauded Jay saying, bravo, good hit Jay.

3) The spectators applaud Jay for his good hit.

4) The spectators applaud Jay saying, bravo, good hit Jay.
Correct Answer: The spectators applauded Jay for his good hit.

Candidate Answer: The spectators applauded Jay for his good hit.

QID : 296 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

a few glorious minutes
Options:

1) late

2) later

3) lately

4) latest

Correct Answer: later

Candidate Answer: later

it was time to reluctantly head ashore.

QID : 297 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes___ | it was time to reluctantly head ashore. ____________ time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

time, the strokes were more fluid
Options:
1) These
2) Those
3) At
4) This
Correct Answer: This
Candidate Answer: This

QID : 298 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes _____ | it was time to reluctantly head ashore. _______ time, the strokes were more fluid, the movements more
relaxed. | turned back one lasttime __________ hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek _______a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

| turned back one last time hello to a clown fish, the reason
Options:

1) to say

2) said

3) saying

4) says

Correct Answer: to say

Candidate Answer: to say

QID : 299 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one lasttime______ hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek _______a
sea anemone, before frisking away. Suddenly, | realised a kinship with the bluewaters __________ the Bay of Bengal.

hide-and-seek a sea anemone, before frisking away.
Options:

1) to

2) for

3) from

4) with

Correct Answer: with



Candidate Answer: with

QID : 300 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one lasttime __________ hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek _______a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

kinship with the blue waters the Bay of Bengal.
Options:

1) for

2) from

3)to

4) of

Correct Answer: of

Candidate Answer: of



